Method 7: Ford-Fulkerson

Input: directed graph G = (V, E), capacity
c: E— Rsq, source s € V,sinkt € V
Output: maximal flow f: E — Rsq, flow value finax
1 fmax < 0
2 foreach e = (u,v) € F do
3 | cplv,u) <0
4 foreach e = (u,v) € E do
5 | crle) < cle)
6 Ef «— F
7 while there is an (s —t)-path p in Gy = (V, E) do
8 | cp<« min{cs(e) | e € p}
9 Jmax < fmax + ¢p
10 | foreach (u,v) € p do

11 cr(u,v) < cp(u,v) —¢p
12 cr(v,u) < cp(v,u) +¢p
13 if c¢(u,v) =0 then

14 remove (u,v) from E
15 if (v,u) ¢ Fy then

16 ‘ add (v, u) to E'¢

17 foreach e € FE do
18 fle) < c(e) — cf(e)




